
Triangle Crocheted Shawls 
 

Size N hook for bulky yarn (about 16 ounces for adult) (about 9 ounces for child) 

Size J hook for 4-ply worsted (about 16 ounces for adult) (about 4-6 ounces for child) 

 

DC= double crochet 
TC= treble crochet  
Ch=Chain 
 
Chain five 
 
Row 1: In the first chain work: 3 double crochet (DC), chain 2, 3 DC chain 1, 1 treble crochet (TC) (all in 
the same chain); CH 4, turn. 
 
Row 2: 3 DC in first CH 1 space, CH 1; 3 DC in CH 2 space, chain 2, 3 DC in the same space, (this 
creates the “point” and you may want to mark it with a piece of yarn)., CH 1. 3 DC in the last space, CH 
1,(TC) in same space, chain 4, turn. 
 
Row 3: [3 DC, CH] 1 in each CH 1 space to “point”.  [3 DC chain 2, 3 DC] in Ch 2-point space; CH 1. [3 
DC Ch1] in each CH 1 space across; CH 1, 3 DC in the last space, CH 1, (TC) in same space, chain 4, 
turn. 
 
Row 4:  Repeat row 3 always working [3 DC- CH 2- 3 DC] in the CH 2 space at the “point”  
 
 
28 to 30 rows make a good length shawl for an adult but can be made larger or smaller. 
 
20 rows make a good length shawl for a child but can be made larger or smaller. 
 
 
 
 
 


